
juk; - 09     myFg;guPl;ir    myF - rjtPjk; 

gFjp - I 

(01). &.350 ,yhgj;Jld; &.5 000 ngWkjpahd iff;fbfhuk; tpw;fg;gLfpd;wJ vdpd;> 
iff;fbfhuj;jpd; tpw;gid tpiyiaf; fhz;f? 
 
 

(02). &.650 ngWkjpahd MilahdJ &.535 ,w;F tpw;fg;gLfpd;wJ vdpd;> el;lk; vt;tsT? 
 
 

(03). &.4 500 ngWkjpahd nghUis 15% ,yhgj;Jld; tpw;fg;gLfpd;wd vdpd;> tpw;gid 
tpiyiaf; fhz;f? 
 
 
 
 

(04). &.350 ngWkjpahd Gj;jfnkhd;W &.48 el;lj;Jld; tpw;fg;gLfpd;wJ. vdpd; tpw;gid tpiy 
ahJ? 
 
 
 

(05). 15% el;lj;Jld; &.1 700 ,w;F njhiyNgrpnahd;W tpw;gid nra;ag;gLfpd;wJ. vdpd;> 
njhiyNgrpapd; nfhs;tpiyiaf; fhz;f? 
 
 
 
 

(06). 25% ,yhgj;Jld; &.7 500 ,w;F Rtu;f;fbfhuk; tpw;fg;gLfpd;wJ. vdpd;> nfhs;tpiy ahJ? 
 
 
 
 

(07). 16% el;lj;Jld; tpw;fg;gLk; nghUspd; el;lk; &.96 vdpd;> nfhs;tpiy ahJ? 
 
 
 
 

(08). &.8 000 ngWkjpahd MilahdJ tpw;gidapd; NghJ 7% fopT toq;fg;gLfpd;wJ. 
Milf;F toq;fg;gLk; fopT tpiyiaf; fhz;f? 
 
 
 
 

(09). tPL xd;wpid &.5 000 000 ,w;F tpw;Fk; NghJ 3% juFg; gzk; toq;f Ntz;Lk;. vdpd;> 
toq;f Ntz;ba juFg;gzk; ahJ? 
 
 
 
 

(10). &.3 500 ngWkjpahd iff;fbfhunkhd;W 10% el;lj;Jld; tpw;fg;gLfpd;wJ vdpd;> el;lk; 
ahJ? 
 
 
 
 

 

(10 × 4 = 40 Gs;spfs;) 
 



gFjp - II 

01. . 

a) tpahghu epiyankhd;W 20% ,yhgk; itj;J tpiy Fwpf;fg;gLfpd;wJ. tpw;Fk;NghJ 

Fwpj;j tpiyapy; 10% fopT toq;fg;gLfpd;wJ vdpd;> Mil xd;iw &.3 024 ,w;F 
thq;Ffpd;whu; vdpd;> 
 

i. Fwpj;j tpiyiaf; fhz;f. 
 
 
 

ii. nghUspd; nfhs;tpiyiaf; fhz;f. 
 
 
 

iii. ,yhgk; vt;tsT? 
 
 

iv. ,yhgrjtPjk; ahJ? 
 
 
 
 

b) 4% el;lj;Jld; &.4 750 ,w;F tpw;fg;gLk; nghUspid 4% ,yhgj;Jld; tpw;f 
Ntz;Lkhapd;> tpw;gid tpiyiaf; fhz;f? 
 
 
 
 
 

02. fhzp tpw;gidapd; NghJ 3% juF nrYj;j Ntz;bAs;sJ. juFgzkhf &.15 000  
nrYj;jg;gLfpd;wJ. 
 

i. fhzpapd; tpw;gid tpiy ahJ? 
 
 
 
 
 
 

ii. cupikahsUf;F fpilf;Fk; gzk; ahJ? 
 
 
 

iii. ,Nj juFr; rjtPjj;jpy; &600 000 ,w;F tpw;fg;gLk; fhzpf;F nrYj;j Ntz;ba> 
 

a) juFg;gzk; vt;tsT? 
 
 
 

 

 

b) cupikahsUf;F fpilf;Fk; gzk; vt;tsT? 
 
 

 
 

(8 + 6 + 8 + 8 = 30 Gs;spfs;) 


